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QUESTION 1

An administrator is performing an upgrade on an ESXi host. Which step can be used to back up the host before the
upgrade is performed?

A. Using the vSphere Client connected to vCenter, right-click the host and choose Host Backup.

B. Log into a vMA appliance and run vicfg-cfgbackup to save the ESXi host configuration.

C. Using the vSphere Client connected directly to the host, right-click the host and choose Host Backup.
D. Use PowerCLI to run the host-backup cmdlet to save the ESXi host configuration.

Correct Answer: B

QUESTION 2

A virtual machine requires a 4TB disk for application data. The storage administrator has already created and presented
a 4TB LUN to an ESXi 5.x host. The host is currently configured with a single 500GB VMFS5 datastore. What is the
next step the vSphere administrator must use to provision the data disk?

A. Create a virtual compatibility mode RDM mapping to the 4TB LUN.

B. Create a physical compatibility mode RDM mapping to the 4TB LUN.

C. Expand the existing VMFS volume to 4TB. Create a physical compatibility mode RDM mapping to the 4TB LUN.

D. Expand the existing VMFS volume to 4TB. Create a virtual compatibility mode RDM mapping to the 4TB LUN.

Correct Answer: B

QUESTION 3

Which two conditions could prevent HA from powering on a virtual machine? (Choose two.)
A. An ESXi host has been placed into maintenance mode.

B. The virtual machine has been assigned a required affinity rule.

C. Strict admission control is configured.

D. The vCenter is hosted on the ESXi host that failed.

Correct Answer: AC

QUESTION 4

Click the Exhibit button. For the selected item, what two properties could the storage administrator use to create a
zone? (Choose two.)
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Fibre Channel
Adapter: Z0:00:00:1b:32: 13 1487 21:00:00: ke 32013 14087
Terget: S0:06:00:60:cl iele5: 22 S0i06:01:60:41 eMe5: 22

Close Help

A. 20.00.00.1b.32.13.14.a7

B. vmhbal.C0.TO.L1

C. fc.2000001b321314a7.2100001b321314a7
D. 50.06.01.60.c1.e0.65.22

Correct Answer: AD

QUESTION 5

When an explicit failover order has been configured on a virtual switch with multiple uplinks, what determines which
uplink is used when a failover event occurs?

A. The first available uplink that reports a positive link state
B. The reported uptime for the surviving uplinks

C. The next available uplink on the list
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D. The uplink with the shortest route

Correct Answer: C
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